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Time: 10 Minutes Paper G. Science 8th Total Marks: 10

2nd Month, 2nd Week, 2nd Day |Syllabus: Unit # 3: Mitosis |

Q.No.1 Encircle the correct answer from the following choices. (0.5%6=3)
- '@u’m}Zu f/,lu“‘ /C..«l’s‘“'l(...«bz..://)a.u:d 5l

i. A process by which the parent cell divides into two daughter cells is called:
e bW K P S QT S
(a)[Mitosis u’/j(}fk (b)|Meiosis J/ﬂu' (c)|Cell divisiongzsF |(d)|Necrosis J/U..C
::Lu"’d}rf;/u.’fﬂét

ii. In mitosis the number of chromosomes is:

(a)|Reduce to half +3bﬁ f/ = T (b)|Become double %(}bﬂgjg
(¢)|Remain same LL(EJ"//’ /“/. (d)|Become a quarter %(}bﬂ,ﬂ?&&?}iu’g

iii. During mitosis the nucleus of cell divides and both chromatids

of each chromosome separate.

- ngnuﬁ.{‘ 52/ ujwﬁ (}’)":/gw le t’lgn(:.ﬁ u'gi b/g): ub»ﬁ u/;ét

|(a)|Parent L (b)|Daughter Z13|(c) |Nerve 3/'|(d)|Somatic u@r’|
iv. In two sets of chromosomes are formed.

-t 2". ..:{»cf, ])’r‘}/ [
(a)|Meiosis J 9IS |(b)|Mitosis ﬂél.
(¢)|Cytokinesis /.i’é §+L-|(d)|Prophase /i’){

v. After a shallow groove arises in the middle of the cytoplasm.

-ty l,y’,,j,?._gu.‘.' sl 2 b w! Lz

(a)|Meiosis J IS8 |b)|Cell division U
(¢)|Cytokinesis 7 Lj §¥1-|(d)[Nuclear division u“{,j/’«f.g

vi. Number of cells produced at the end of mitosis is:

:‘g:W’J){LbLnl&uf]' ol

(a) 2 (b) 3 (©) 5 d) 6

Q.No.2. Write the short answers. 2x2=4) .gf.‘!"J c«@’i/‘?
(i) Define daughter cells. -q/.g}d’)f ;7;
(ii) What happens after nuclear division? ?c‘;b‘n“lrcu!é:u‘zﬁ/zgi
Q.No.3. Write long answer. A3) .‘j.‘."J ..«lid'fj
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(i) Describe the process of mitosis.
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(i) Describe the process of mitosis.



